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Zugkpku Mniubipkt Ulq tpk
hunnipniu IJIOTHOCTb density
wnhhqpuqtiwug aCTPOHABT astronaut
nhbqbpwuwy KOCMHUYeCKUH KOpabiib cosmic station
nununnid 3aMezJIeHue deceleration
wlnp cocyxn container
Epjupugnid yAJIUHEHue extension
quuyubiuy Ipy>KHHA spring
wlunpununpduby OTpa’kaTb reflect
ulinhly PTYTh mercury
Jhquljiinwghtt hinwynpnipiniu boKyCHOe paccTosHHe focal length
nuyyuily JIMH3a lens
wuwnljkp o6pas image
Epljupnipinil IJIMHA length
Lupnid IaBJIeHUe pressure
obpdwunmhdw TeMIepaTypa temperature
EEjunpuljub onpu 9JIeKTpHUYeCcKad Ielb electric circuit
nhdwnpnipnil COIIPOTHUBJICHUE resistance/resistor
Eukpghw SHeprus energy
qutqud Macca mass
lohn BeC weight
wouwnwp pabota work
dudwtiuly BpeMs time
wpwgnipnil CKOPOCTb speed/velocity
dwljtplnyp IIOBEPXHOCTb surface
wquun wiljdwt wpuqugnid yCKOpeHHe CBOGOZHOTO Ma/leHUs free fall constant
hnuwtp TOK current

12




